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�������� ��	���E4

αqs = α3/4 = αst − 1
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ẏ +

(0.5− εea)bhc
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βqs = β − 1
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Hy

∂Cl/∂β
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weff = wqs
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αqs = αst − 1

U0
ẏ + (0.5+εea)bhc

U0
α̇

βqs = β − 1
U0

Hy

∂Cl/∂β
β̇

; D/�BE
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α�� = αqsΦ(0) +

∑N��� zαi
β�� = βqsΦ(0) +
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, D/�IE

����������	
��
 ��



����� Φ(0) ����� ��� �	����
� �����	�� �
��� 
� ��� �	���
� �	��
	�4

Φ(0) = 1−
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⎧⎨
⎩

zαi,t+Δt = zαi,t exp
(
−U0bi

bhc
Δt

)
+Aiαqs

(
1− exp

(
−U0bi

bhc
Δt

))
zβi,t+Δt = zβi,t exp
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−U0bi

bhc
Δt

)
+Aiβqs

(
1− exp

(
−U0bi

bhc
Δt

)) . D/�,,E
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Cnc
l = π
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�� +
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π

bhc
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Cα̇
m,1/4 =
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1/4

2ρU2
0 b

2
hc

= −0.5π
bhc
U0
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1/4 = b3hcρ
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π
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π
F������(εea + 0.5)β̇
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π
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M β̇
1/4

2ρU2
0 b

2
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= −0.25π
bhc
U0

F������β̇; D#�IE
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��� %�����	
��� αk∗ ���	� ��
� �����	� ��� 

'�
�
 ΔCl/Δα|k� 
	� 
�� ��� αk∗ ���	�� ���
����� ��� 
����'�

���	 ����� ���k < 0.014

α+ = max
(
α(maxΔCl/Δα), ∀αk∗ : ���k∗ < 0.01

)
.
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��
� α−� �����
����� ��� ��+�! ��
�� �� ��� K��	�
������= �����	� ��� ����
���	� 
�� 	�� �
����� ���
��� ��� ���	�� �	 ��� ���
�� ���� ����� ���� 	��
���� ���� Cst

l < 0�

0� ��� 
	���� �� 
��
� α+ 
	� α− 
�� ���� ����	� ���� ��� %��	�� �� ��� ��	�
� ����
�����	� ��� ��	�
� �
�

����� ∂Cl/∂α 
	� α0 
�� ���	 ����	 %� ��� ����� 
	� ���
�	������� �� ��� ���
���� ��	� ��		����	� ��� α+ 
	� α− ���	��4

∂Cl

∂α
=

Cst
l,α− − Cst

l,α+

α− − α+
,


	�

α0 =
Cst

l,α− · α+ − Cst
l,α+

· α−
Cst

l,α− − Cst
l,α+

.

����������	
��
 ��



-����� 2
���� 
�
������

�� �����

��

� ��	�
� �	������
���	 
�������
 �� ���� �	���� ��� (�)*� �����	�� �� �%�
�	 ��� ���
��
�
���� ��������	��	� �� �����+� 
	��� �� 
��
� �� !
� ��!�����	 �
����� ��� �

� ��	�
�
�	������
���	 
�������
 �� ���� �	 ��� ������������� �� �'���� ��� ���
�� �
�
 �� ���
��� �	��� +���

5���	 y0 
	� y1� ��������	��	� ������������ �� x0� 
	� x1� ��� �	������
���	 �����	�
��� y��� ��������	��	� �� x���� �����4

x0 ≤ x��� ≤ x1, 
	� y0 ≤ y��� ≤ y1. D#�,@E

�	 �	������
���	 �
���� �� ��+	�� 
�

k��� =
x��� − x0

x1 − x0
, D#�,,E
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y��� = k���y1 + (1− k���) y0. D#�,�E

��� 
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 ��������	�� �� ��� ��
���� ��	�
� �	������
���	

y��� = y0 +
y1 − y0
x1 − x0

(x��� − x0) , D#�,/E
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